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The period that contains only gaseous elements is ( )
b) 1 b) 2 c)3 d)4

The number of elements present in the 2", 3", 4" and 5
periods of the modern periodic table are ( )
a)2,8,8,18 b)8,8,18,32 c)8,8,18,18 d)8,18,18,32
The pairs of elements with the following atomic numbers

th

have the same chemical properties ( )

a.13& 12 b.38&11 c.4824 d.2&1

Element with atomic number 15 and mass number 31 is
presentin ( )

a. Group 5 and period 4 b. Group5 and period 3 c.
Group15 and period 3 d. Group15 and period 4
The atomic number of the element which forms acidic

oxide is ( )
a. 7 b. 11 c. 19 d. 21
Which is correct for metallic character ( )

a) CI> Si> Al> Mg> Na b) Na> Mg> Al> Si> Cl

c) Na> Si> Mg> Al> Cl d) Al> Na> Si> Cl> Mg

The position of the element with electronic configuration
2,8,7 in the modern periodic table is ( )
a. Group 7 and period 2 b. Group7 and period 3

c. Group 17 and period 2 d. Group17 and period 3
The atomic numbers of the elements A, B, C, Dand E are
2, 4, 8, 10 and 18 respectively. The elements which

belong to the same period are ( )
a.AB,C b. B,C,D c.ADE d.BD,E

Which of the following is the correct order of size ( )
a)Cl<F<Br<| b)F<CIl<Br<I ¢)I<Br<ClkF d)Br<I<CI<F

Which of the following has most non metallic character ( )
a.N b.C c.0 d.F

The most metallic element in the fourth period is ( )
a.Ca b. K c.S d.P

An element has 13 protons. The group and period to
which it belongs is ( )
a) 3" period and 13"group  b) 2™ period and 13" group
¢) 3 period and 3 group  d) 2™ period and 3" group

The element which loses an electron easily is ( )
a.K b.Na c.Ca d. Mg

Which of the following elements would accept an
electron readily ( )
a.F b.Cl c. Br d. |

The electronic configuration of an element is 2,7.To
which of the following would it be chemically similar?( )
a) N(7) b) P(15) c) Cl(17) d)Ar (18)

The electronic configurations of three elements X, Y and
ZareX=2,Y=2,6,2=2, 8, 2. Then the element belongs
to second period is ()

a. X b.Y c.’z d.Xand Z
Descending order of atomic size of the elements Na,Mg,K
is ()
b. Na,MgK b)KNaMg c)K,Mg,Na d) Mg,K,Na
Electronic configuration of second alkali metalis ( )
b. 28,1 b.2,1 c.2,8,8,1 d. 2,2
Which of the following has maximum atomicsize? ( )
b. K b) Ca c) Al d)p
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The law of octaves was proposed by ( )
a) Newland b) Doberiener c) Lother Meyer d) Mendleeve
The number of periods in the long form of the periodic

tableis ()
a)6 b) 7 c) 10 d) 18

Which of the following elements has maximum metallic
character? ( )
a) Li b) N c) Na d)P

Which of the following is the most reactive halogen?( )
a) F b) Cl c) Br d)l

Metal having valency 2 is ( )
a. Li b) Mg c) Na d) K

If an element with atomic number ‘A’ is an inert gas. In
which group would you find an element with atomic
number (A + 2)? ( )
a. IA b) lIA c) A d) VA

Identify the group which is not a Dobereiner triad ( )

a) Li Na,K b) Be, Mg, Cr c) Ca, Sr, Ba d) Cl, Br, |

Eka — Boron is ( )

a) Silicon  b)scandium c) gallium d) germenium

The least electronegative stable element is ( )
a. F Db)Cs c) Li d)C

Non Metal in group 14 is ( )
a. Si b)C c) Ge d) Pb

Electronic configuration of elements A,B,C and D are 152,
1322522p5, 1522522p6, 1522522p63szrespectively. Then noble
gas elements are a)AB b)B,C c)AC d)BD( )

An element ‘X’ belongs to 3" period and 2" group. Then

the No. of valence electrons in it is ()
a. 1 Db)3 c)2 d)5

The block which the element with atomic number 21

belongs is ( )
a. s b) p c)d d)f

X and Y are two elements which have similar properties
and obey Newland’s law of octaves. No. of elements in
betweenthemis is a) 5 b) 6¢c) 7d) 8 ( )

Some elements of the modern periodic table are ,He, ,Be,
oFe 14Si, 19K, 20Ca. Then the elements which belongs to the

same group are ( )
a) ;He,14Si b)sBe,nCa  ¢) 19K, 0Ca  d) oFe 4Be
The group that contains gaseous elements is ( )

a) 1 b)2 c)3 d)4

The atomic number of an element is 7 with which of the
following elements will it show similar chemical properties ( )
a) Be(4) b) Ne(10) c) P(15) d) 0(8)
Example for a Metalloid a)C b)Si c)Pb d)Sn ()
The wrong sequence of the elements ina groupis ( )
a) Ca, Sr,Ba b) Cu,Au,Ag c) N,P,As d) Cl,Br,lI

The atomic numbers of four elements are 1,5,7 and 15
then the name of the element bigger in size is ()
a) Nitrogen b) Hydrogen c¢) Phosphorus d) boron
The metals present among the first ten elements in the
modern periodic table are ( )
a)H, Li b) Li, Be c)Be,O0 d)He, Ne



